AL ALOSAS019B US AIR SUSPENSION SET 250MM RIDE HEIGHT
PART NO: 730613

SUSPENSION NO RIDE HEIGHT A (BUMP) B (REBOUND) ST 9_05

ALO9AS019B 250mm 96mm 1M0mm 300mm 535
SERIALNO STUB TORQUE N.m (lbs.ft) APPLICATION
1 M24 500 (370) DAMPER NUT j
2 M24 800 (565) PIVOT NUT 32
3 M24 680 (500) U-BOLT INITIAL
4 M24 575 (425) U-BOLT RE-TORQUE
5 M12 41(30) AIR SPRING NUT
6 M16 200 (145) AIR SPRING SCREW
=
Lo
|
=
==
1
’___--"

318

mrud MIKES TRANSPORT WAREHOUSE LTD | WWW.MTW.NET.NZ | 07 850 8333 | 6624 TE RAPA ROAD, HAMILTON 3200



